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MEASUREMENTS: 20 1/2" (52 cm) high, measuring at
the centre, x 61” (155 cm) wide at the upper part,
approximately

MEASUREMENTS: 50 3/8” (128 cm) long x 44 1/8” MATERIALS
(112 cm) wide at the upper part, approx. INFINITY SHAWL: 1 ball col. 301
MATERIALS Knitting needles: size 6 (U.S.)/(4 mm)
INFINITY SHAWL: 1 ball col. 304 Stitches
Knitting needles: size 8(U.S.)/(5 mm) Garter st: work all the sts and all the rows in knit st
Stitches 1x1 Ribbing: 1%t row: K1, P1. 2" row: work all sts as
Accordion st: see graph A they present themselves.

- Pattern st 1, 2 & 3: see graphs A,B & C
GAUGE Increase: pick up the horizontal bar of yarn that lies
Using size 8 needles in accordion st: between the st just worked and the next st to be worked,
17 sts & 26 rows = 4x4. slip it onto the LH needle and K1 through the back
INSTRUCTIONS of the st
Cast on 3 sts. Work in accordion st following graph A GAUGE .
until the end of the ball of yarn then loosely Using size 6 needles in pattern st 1 & 2:
bind (cast off) all the sts. 21 sts & 28 rows = 4x4

INSTRUCTIONS

Cast on 18 sts. Work 2 rows in 1x1 ribbing, except for
the first and last 2 sts which are always worked in garter
st, increasing 1 st at each edge (= 2 sts in from the
edges) of all the rows (= on all right side rows and on all
wrong side rows).

Continue working in pattern st 1, following graph A.

Note: The 2 sts in garter st at the sides and the
increases are not represented on the graphs.

When the 22 rows of graph A have been completed,
continue working in pattern st 2 following graph B.

When all the rows of graph B have been completed,
continue working in pattern st 1 & 2 in the following
manner:

* Work the last 10 rows of graph A (= R1), the 12 rows of
graph B *, work from * to * a total of 4 times and finish
with the last 10 rows of graph A (= R1).

Continue working in pattern st 3, following graph C.
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8 p yarn and bind (cast off) all the sts.
==l=1=V|7 V 1increase = make 2 sts
6 from 1 st (= K1, and without
A= \_/ 5 releasing the st from the LH
Vi3 needle work another knit st
2 === by inserting the RH needle

1 through the back of the st,
release st. /




22
2 R Repeat

20 H
19 1 [] 1knitst

18

16 [=|=I=|=|= == =|=|=|=]=]= 7 31 —  1purlst
15 |

HE===SEE== = >< Using the RH needle pick up 5 purl sts, purl the 5 sts tog,
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